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PROFIT & LOSS ASSIGNMENT 
 

1. A store purchased pens at ì 216 per dozen. He paid ì  58 for conveyance 
and sold the pens at the discount of ì  2 per pen and made a overall profit 
of ì 50. Find the M.P. of each pen. 
xU tpw;gid epiyak; xU lrd; Ngdhf;fis ì 216 f;F thq;fpaJ. NkYk; 
rpy;yiu nrythf ì 58 nryT nra;jJ gpd;G xU Ngdhtpw;F ì 2 Fiwj;J 
tpw;gid nra;jjpy; ,yhgk; ì 50 fpilj;jJ vdpy; xU Ngdhtpd; Fwpj;j 
tpiy vt;tsT?  
a. Rs.36   b. Rs.30  c. Rs.32  d. Rs.29 
 

2. A man bought an old bicycle for ì 1,250. He spent ì 250 on its repairs. He 
then sold it for ì 1400. find his gain or loss% 
xU egh; xU gioa kpjptz;bia ì 1,250 f;F thq;fpdhh;. mjid 
rPh;g;gLj;j ì 250 nryT nra;jhh;. mth; mjid ì 1400 f;F tpw;whh;. mthpd; 
,yhgj;ij my;yJ el;lj;ijf; fhz;f.  
a. 6.67% loss  b. 66.7% loss c. 5% loss  d. 6.67% gain  
 

3. A shop keeper purchased 100 ball pens for ì 250. He sold each pen for ì 4. 
Find the profit percent.  
xU filf;fhuh; 100 Ngdhf;fis ì 250 f;F thq;Ffpwhh;. xU Ngdh ì 4f;F 
tpw;fpwhh;. ,yhg rjtPjj;ijf; fhz;f.  
a. 40%  b. 50%   c. 25%  d. 60%  
 

4. A Vegetable vendor bought 40 kg of onions for ì 360. He sold 36 kg at ì 11 
per kg. The rest were sold at ì 4.50 per kg as they were not very good. Find 
his profit/loss percent.  
xU fha;fwp tpahghhp 40fpNyh ntq;fhaj;ij ì 360f;F thq;Ffpwhh;. mth; 
xU fpNyh ì 11 vd;w tpiyf;F 36 fpNyhit tpw;fpwhh;. kPjKs;stw;iw 
xU fpNyh ì 4.50 vd;w tpiyf;F tpw;whh;. mtUf;F fpilj;j ,yhg / el;l 
rjtPjj;ijf; fhz;f.  
a. 15% loss  b. 15% profit  c. 25% profit  d. 25% loss  
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5. If the selling price of a LED TV is equal to 
5

4
of its cost price, then find the 

gain / profit percentage. 
Xh; vy; ,.b (LED) njhiyf;fhl;rpapd; tpw;gid tpiy mjd; mlf;f 

tpiyiag; Nghd;W 
5

4
klq;F vdpy;> ,yhgr; rjtPjk; fhz;f.  

a. 15%  b. 10%  c. 20%  d. 25% 
 

6. By selling a bicycle for ₹4275, a shopkeeper loses 5%. For how much 
should he sell it to have a profit of 5%? 
xU filf;fhuh; kpjptz;bia ì 4275 ,f;F tpw;gjhy; mtUf;F 5% el;lk; 
Vw;gLfpwJ. mtUf;F 5% ,yhgk; fpilf;f Ntz;Lnkdpy;> kpjptz;bia 
vd;d tpiyf;F tpw;f Ntz;Lk;?  
a. Rs.4500  b. Rs.4725  c. Rs.5000  d. Rs.5225 

 

7. The cost price of 16 boxes of strawberries is equal to the selling price of 20 
boxes of strawberries. Find the gain or loss percentage. 
16 ];l;uhnghp (Strawberry) ngl;bfspd; mlf;f tpiyahdJ 20 ];l;uhnghp 
ngl;bfspd; tpw;gid tpiyf;Fr; rkk; vdpy;> ,yhgk; (m) el;lr; rjtPjk; 
fhz;f.  
a. 20% loss  b. 20% Gain  c. 10% gain  d. 10% loss  
 

8. The marked price of an LED tube light is ₹550 and the shopkeeper offers a 
discount of 8% on it. Find the selling price of the LED tube light. 
Xh; vy;.,.b. (LED) Foy; tpsf;fpd; Fwpj;j tpiy ì 550. filf;fhuh; 
mjw;F 8% js;Sgb toq;Ffpwhh;. vdpy;> me;j vy;.,.b. Foy; tpsf;fpd; 
tpw;gid tpiyiaf; fhz;f.  
a. Rs.504   b. Rs.508  c. Rs.516  d. Rs.506  
 

9. A trader sells an article and loses 
1

12 %
2

. The ratio of cost price to the 

selling price is  

xU th;j;jfh; nghUnshd;iw tpw;W 
1

12 %
2

 ,of;fpwhh;. cz;ik tpiy 

kw;Wk; tpw;gid tpiyf;fhd> tpfpjk; fhz;f.  
a. 7 : 8  b. 9 : 8  c. 8 : 7  d. 8 : 9  
 

10. A person buys an article for p and sells it for q there by gaining r%. The 
selling price in terms of cost price may be written as  
xU egh; p f;F xU nghUis thq;fp q f;F tpw;fpwhh;. ,jd; %yk; r% 
yhgk; ngWfpwhh;. cz;ik tpiyia nghWj;J tpw;gid tpiyia vt;thW 
vOjyhk;.  
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a. 
100

pr
    b. 

(100 )

100

r p
  c. 

(100 )

100

p r
  d. 

(100 )

100

p r
  

 
11. A shopkeeper sells one transistor for ì 840 at a gain of 20% and another for 

ì 960 at a loss of 4%. His total gain or loss percent is  
xU filf;fhuh; xU buhd;rp];liu ì 840 f;F 20% yhgj;jpYk;> 
kw;nwhd;iw ì 960 f;F 4% el;lj;jpYk; tpw;fpwhh;. mtUila nkhj;j yhg 
my;yJ el;l rjtPjk; vd;d?  

a. 5 
15

17
% loss b. 5 

15

17
% gain  c. 6 

2

3
% gain d. None of these  

 
12. If an article is sold for ì x, there is a loss of 15%. If the same article is sold 

for ì y, there is a profit of 15%. The ratio of (y – x) to (y + x) is  
xU nghUis 15% el;lj;jpy; & x – w;F tpw;fg;gLfpwJ. mNj nghUis 
15% yhgj;jpy; & y-w;F tpw;fpwhh; vdpy; (y - x) w;Fk; (y + x) w;Fk; 
,ilNaahd tpfpjk; fhz;f.  
a. 3 : 20   b. 20 : 3  c. 17 : 23  d. 20 : 23  
 

13. If selling price is doubled, the profit triples. Find the profit percent.  
tpw;gid tpiy ,ul;bg;ghdhy;> yhgk; %d;W klq;fhFk; vdpy; yhg 
rjtPjk; fhz;f.  

a. 66 
2

3
%  b. 100%  c. 

1
105

3
%  d. 120% 

 
14. In a certain store, the profit is 320% of the cost. If the cost increases by 25% 

but the selling price remains constant, approximately what percentage of 
the selling price is the profit? 
xU filapy;> nghUnshd;wpw;F cz;ik tpiyapypUe;J 320% yhgk; 
fpilf;fpwJ. cz;ik tpiyahdJ 25% cah;j;jg;gLfpwJ Mdhy; 
tpw;gid tpiy mNj tpiyapy; njhlh;fpwJ vdpy; Njhuhakhf vj;jid 
rjtPjk; yhgk; fpilf;Fk;?  

 a. 30%  b. 70%  c. 100%  d. 250% 
 

15. By selling 100 pencils, a shopkeeper gains the selling price of 20 pencils. 
His gain percent is  
100 ngd;rpy;fis tpw;Fk; nghOJ xU filf;fhuh; 20 ngd;rpy;fspy; 
tpw;gid tpiyia yhgkhf ngUfpwhh;. vdpy; yhg rjtPjk;. 
a. 12%   b. 15%  c. 20%   d. 25%  
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16. Profit earned by selling an article for ì 1060 is 20% more than the loss 
incurred by selling the article for ì  950. At what price should the article be 
sold to earn 20% profit?  
xU nghUis & 1060 f;F tpw;Fk; nghOJ fpilf;Fk; yhgk; mNj 
nghUis & 950 f;f tpw;Fk; nghOJ fpilf;Fk; el;lj;ij tpl 20% 
mjpfk; 20% yhgj;jpy; tpw;Fk; nghOJ me;j nghUspd; tpw;gid tpiy 
vd;d?  
a. ì 980 b. ì  1080  c. ì  1800  d. None of these  
 

17. A man purchased a box full of pencils at the rate of 7 for ì 9 and sold all of 
them at the rate of 8 for ì 11. In this transaction, he gained ì 10. How many 
pencils did the box contain?  
xU egh; xU ngl;b KOtJk; cs;s ngd;rpy;fis & 9 w;F 7 vd;w 
tPjj;jpy; thq;fp & 11 w;F 8 vd;w tPjj;jpy; tpw;fpwhh;. ,jd; %yk; & 10 
yhgkhf ngWfpwhh; vdpy; me;j ngl;bapy; vj;jid ngd;rpy;fs; 
,Ue;jpUf;Fk;?  
a. 100   b. 112   c. 114   d. 115  
 

18. A dealer professes to sell his goods at cost price but he uses a false weight 
of 950 grams for a kilogram. The gain percent of the dealer is  
xU tpahghhp jd;dplk; cs;s nghUl;fis mjd; cz;ik tpiyf;Nf 
tpw;f Kd;tUfpwhh;. Mdhy; xU fpNyhtpw;F gjpy; 950 fp.fp. kl;LNk 
nfhLf;fpwhh;. vdpy; me;j tpahghhpapd; yhg rjtPjk; vd;d?  

a. 
5

4 %
19

  b. 5%   c. 
5

5 %
19

  d. 
1

19 %
5

 

 
19. A fruit seller professes to sell his fruits at cost price, but still gains 25% on 

his outlay. What weight does he substitute for a kilogram? 
xU go tpahghhp mthplKs;s goq;fis cz;ik tpiyf;Nf tpw;f 
Kd;tUfpwhh;. ,Ug;gpDk; mtUf;F 25% yhgk; fpilf;fpwJ. vdpy; xU 
fpNyhtpw;F gjpy; vt;tsT vil fy;ypid gad;gLj;jpapUg;ghh;?  
a. 800 gm  b. 850 gm  c. 890 gm  d. 900 gm 
 

20. A merchant professes to lose 4% on a certain tea but he uses a weight 
equal to 840 g instead of 1 kg. Find his real loss or gain percent. 
xU tzpfh; xU Fwpg;gpl;l NjePh; tpahghuj;jpy; 4% el;lk; miltjhf 
$Wfpwhh;. Mdhy; mth; 1 fpNyhtpw;F gjpyhf 840 fpuhk; rkkhd viliag; 
gad;gLj;Jfpwhh;. mtuJ cz;ikahd yhg / el;l rjtPjj;ij fz;lwpf.  

a. 14 
2

7
% loss  b. 14 

2

7
%gain c. 16 

2

7
% loss  d. 16 

2

7
% gain  
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21. By selling an article, a man makes a profit of 25% of its selling price. His 
profit percent is 
xU egh; xU nghUis tpw;f;Fk; nghOJ> mjd; tpw;gid tpiyapypUe;J 
25% yhgk; ngWfpwhh; vdpy; yhg rjtPjk; vd;d?  

a. 16 
2

3
%  b. 20%  c. 25%  d. 33 

1

3
 % 

 
22. If there is a profit of 20% on the cost price of an article, the percentage of 

profit calculated on its selling price will be  
xU nghUspd; cz;ik tpiyapypUe;J fzf;fpLk; nghOJ> 20% yhgk; 
fpilf;fpwJ. yhg rjtPjj;ij mjd; tpw;gid tpiyapypUe;J 
fzf;fpLifapy; vd;d fpilf;Fk;?  

a. 8 
1

3
%   b. 16 

2

3
%  c. 20%   d. 24 % 

 

23. By selling an article at 
2

3
of the marked price, there is a loss of 10%. The 

profit percent, when the article is sold at the marked price, is  

xU nghUspd; Fwpf;fg;gl;l tpiyapypUe;J 2
3

 klq;fpw;F tpw;Fk; nghOJ 

10% el;lk; Vw;gLfpwJ. Fwpf;fg;gl;l tpiyapy; mg;nghUis tpw;Fk; 
nghOJ tUk; yhg rjtPjk; vd;d?  
a. 20%  b. 30%  c. 35%  d. 40%  
 

24. A man sells a book at a profit of 20%. If he had bought it at 20% less and 
sold it for ì  18 less, he would have gained 25%. The cost price of the book 
is  
xU egh; Xh; Gj;jfj;ij 20% yhgj;jpy; tpw;fpwhh;. mth; 20% Fiwthf 
thq;fp> 18 &gha; Fiwthf tpw;wpUe;jhy; mtUf;F 25% yhgk; 
fpilj;jpUf;Fk;. vdpy; me;j Gj;jfj;jpd; cz;ik tpiy vd;d?  
a. ì  60  b. ì  70  c. ì  80   d. ì  90  
 

25. A Watch is sold at a profit of 20%. If both the cost price and the selling 
price of the watch are decreased by ì  100, the profit would be 5% more. 
Original cost price of the watch is  
xU fbfhuj;ij tpw;Fk; nghOJ 20% yhgk; fpilf;fpwJ. mjd; cz;ik 
tpiy kw;Wk; mjd; tpw;gid tpiy ,uz;ilAk; &.100 Fiwj;jhy; 5% 
mjpf yhgk; fpilf;fpwJ. vdpy; cz;ikapy; thq;fpa tpiy vd;d?  
a. ì 450  b. ì  500  c. ì  550  d. ì  600  
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PROFIT & LOSS ASSIGNMENT ANSWER 
KEY 

 

1 2 3 4 5 6 7 8 9 10 
D A D B D B A D C C 

11 12 13 14 15 16 17 18 19 20 
B A B B D D B C A B 

21 22 23 24 25      
D B C D B      

 
 
 

 


